S‘ [ I I I | I I I | ]
()

O 10° &= Jetp_(p_ > 30 GeV, ly| < 2.5, m> 40 GeV) =

o) — -

o — _

© 10 = —

— — —

o — -

=) — -

S~ — —
o)

107t = =

1072 = =

C m ATLAS -

10° &= —&— Pythia 8.308 default =

= ---¥-- Pythia 8.308 tune-AU2 —

— --<-- Pythia 8.308 tune-AU2lox .

1074 = - &- Pythia 8.308 tune-AU2loxx =

~ —~— Pythia 8.308 tune-AU2m =

10_5 = =

— | | | | | | | | I:

: T T T | T T T | T T T | T I:

2 & =

7)) — B

< - : _

| - - | _

= F = L]

e 1 :

2 B %llag]:l&@ N g ]

L / -

L ,'I' -

0.5 i |

!
| I' 1

13000 GeV pp
I I I |

400
p‘Tet (leading jet,> 1 jet) [GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


